THAEE FEERRDPFREFTRE

xF
[FERENEN] BERR (&F) SAGAT S 1415
202246 4258
F—LZR
B F—L% BE CETHE Fi98 o, &50CHE)
1 i B PER 36.350 32.450 33.350 36.250 105.950

X 5 R&Eft 1 3EIH

[(BARENEA] HERR  (KF)

g £2 F—L% ES KE & # =
1 87 BRAFER R fEE 47.450
2 i1 AR AR hFEsF WEEH 47.100
3 fir A HER f WE 43.850
4 i EWEPER LH =2 39.400
5 i AR AER #HRME BE 36700

(BRI BkE] (Z&+F) [(ER FHE ] (Z&¥)

g £z F—L% ES K & # = I {3z F—L% E5S K & # =
1 i B FESF bERH 12650 1 i B FRERK PR fER 12.450
2 fi BRHER hAR fEE 12.200 2 fi B hEEZ ybEE  11.000
3 i B APER A W& 11.500 3 {1 BERFER L& =ibig 10050
4 i BHEPFER E# E#bgg 11350 4 i ARABER A W& 9.900
5 i B SER #HRME BE 9450 b i B APFER #HERE 8% 9.700

(BRI BBV TR ] (Z&F) [(EE A Wi ] (&F)

IE L F—L% 55 K & # = g 4z F—L% 55 K & # =
1 2 AR FER HFESE EEEH 12000 1 2 AR RZER PR #ER 12.600
2 i1 AR A HE 10.250 2 fif AR R A HE 12.200
3 ff AR PR X 10.200 3 i B hEEE PEE 11450
4 i SHEFFER E# Eibi2 8100 4 G SHERER # E=ibi 9.900

5 iz BHFER #HERE FE 7800 5 i B HZER #HEME T 9.750



BF
[ f#e A MENL]

IE & F—L%
1 fi BiEchEE

FTHMEEERRPFEFRETRS

MAKREEY 2 9EE

REPN E=y A
E L F—L%
1 4 RAIhEE
2 i BiET R
3 fi BETEE
4 fi BiE R

(BB i ]
IE & F—L%
1 i KFns
2 i Bt
3 i Bt
4 (5 Bt

(BRI AR ]
B F—L%
1 fi BiED R
2 fir KA
3 fi B
4 fi BiEREE

BAERER (BT

F—LEA
wh (HAE BE  &HE
34.000 26.500 34.850 29.350

BEER (BT
E&S K & 1B A
WBE K 49.300
#O EA 48300
L SRXRER  44.600
2R KBk 31.800

(B¥)
E&S K & #& =
P Kih  13.300
O BA 12700
Rl BRRER 11.000
HEK ¥4 10300
(B¥F)

EES K & # =
O BA 11300
8 Kih 10800

Bl EERER 9.900
BR BR 5300

AEHEHE)

98.200

[(EH Bk ]
IE 1  F—LA
1 fi KFOesH
2 i Bt
3 i BERER
4 i B

[(EEHR &8 ]
IE K F—Lb%
1 fi ARt
2 i Bifthe
3 fir Bl
4 i B

SAGATS
20224

(B+¥)
&S K %
HBEH Kih  13.050
#O BA 12750
Ful sErER 12000
BAK g 10100

#7 R

(B7)
E®E K & B =5
HBEH Ki#h 12150
Bl EERBER 11.700
#EO BA 11550
2K ®mR 6100



